# b-Generalized Derivations on Prime Rings 

Shuliang HUANG<br>School of Mathematics and Finance, Chuzhou University, Anhui 239000, P. R. China


#### Abstract

In the present paper, we have discussed the commutativity of prime rings and extended some well known results concerning derivation and generalized derivations to $b$-generalized derivations.


Keywords prime rings; b-generalized derivations; commutativity
MR(2020) Subject Classification 16W25; 16N60; 16U80

## 1. Introduction

Throughout this paper, unless otherwise mentioned, $R$ will represent associative ring center $Z(R)$. Recall that a ring $R$ is prime if for any $a, b \in R, a R b=(0)$ implies $a=0$ or $b=0$ and is semiprime if for any $a \in R, a R a=\{0\}$ implies $a=0$. If $R$ is a prime ring, the symbol $Q=Q_{m r}$ means it is maximal right Martindale quotient ring. The center of $Q$, denoted by $C$, is called the extended centroid of $R$ and $R C$ is said to be the central closure of $R$. It is remarked that $R$ is a prime ring if and only if $C$ is a field (we refer the reader to [1] for these objects). For any $x, y \in R$, the symbol $[x, y]$ and $x \circ y$ stand for Lie product $x y-y x$ and Jordan product $x y+y x$, respectively. We denote the identity mapping of a ring $R$ by $I_{i d}$, that is, the mapping $I_{i d}: R \longrightarrow R$ is defined as $I_{i d}(x)=x$ for all $x \in R$. By a derivation on $R$ we mean an additive mapping $d: R \longrightarrow R$ such that $d(x y)=d(x) y+x d(y)$ holds for all $x, y \in R$. In particular $d$ is called an inner derivation induced by an element $a \in R$, if $d(x)=[a, x]=I_{a}(x)$ for all $x \in R$. An additive mapping $F: R \longrightarrow R$ is called a generalized derivation if there exists a derivation $d: R \longrightarrow R$ such that $F(x y)=F(x) y+x d(y)$ holds for all $x, y \in R$, and $d$ is called the associated derivation of $F$. Note that if $F=d$, then $F$ is just an ordinary derivation. In a recent paper of Kosan and Lee [2], the authors propose the definition of $b$-generalized derivation: An additive mapping $F: R \longrightarrow Q$ is called a $b$-generalized derivation of $R$ with the associated map $d$ if $F(x y)=F(x) y+b x d(y)$ holds for all $x, y \in R$ and $b \in Q$. In the same paper, it is proved that if $R$ is a prime ring and $b \neq 0$, then $d$ is a derivation of $R$. Clearly, a generalized derivation is a 1-generalized derivation. The following example demonstrates that $b$-generalized derivations in rings do exist. Let $S$ be any ring and $R=\left\{\left.\left(\begin{array}{cc}x & y \\ m & n\end{array}\right) \right\rvert\, x, y, m, n \in S\right\}$. Define maps $F: R \rightarrow R$ by $F\left(\begin{array}{cc}x & y \\ m & n\end{array}\right)=\left(\begin{array}{cc}x+n & y \\ 0 & 0\end{array}\right)$. Then it is easy to check that $F$ is a $b$-generalized derivation of $R$,

[^0]where $b=\left(\begin{array}{ll}0 & 1 \\ 0 & 0\end{array}\right)$. From the above, one may observe that the concept of $b$-generalized derivations includes the concept of derivations and generalized derivations. The $b$-generalized derivations appeared canonically in $[3]$ and were studied by several authors $[4,5]$. A classical problem in ring theory is to investigate and extend conditions under which a ring becomes commutative. So far the best tools found for this purpose are the derivations on rings and also on their modules. Many results in literature indicate that the global structure of a ring $R$ is often lightly connected to the behavior of additive mappings defined on $R$. The first result in this topic is due to Divinsky [6] who proved that the simple Artinian ring is commutative if it has a commuting nontrivial automorphism. Two years later, Posner proved in [7] that if a prime ring $R$ admits a nonzero derivation $d$ satisfying $[d(x), x] \in Z(R)$ for all $x \in R$, then $R$ is commutative. As is well known, this theorem was regarded as the starting point of many papers concerning the study of various kinds of additive mappings satisfying appropriate algebraic conditions on some subsets of prime and semiprime rings.

Over the last few decades, several authors have investigated the relationship between the commutativity of the ring $R$ and certain specific types of derivations acting on appropriate subsets of the rings [8-12], where further references can be found). Moreover, many of the results obtained extended other ones proven previously just for the action of the considered mappings on the entire ring. In the year 2002, Ashraf and Rehman [13] proved that if $R$ is a prime ring, $I$ a nonzero ideal of $R$ and $d$ is a derivation of $R$ such that $d(x \circ y) \pm x \circ y=0$ for all $x, y \in I$, then $R$ is commutative. Later, in [14] this result was also extended to the case of generalized derivations. More precisely, Rehman proved that if a prime ring $R$ admits a generalized derivation $F$ associated with derivation $d$ such that $F(x \circ y) \pm x \circ y=0$ for all $x, y \in I$, a nonzero ideal $I$ of $R$, and if $F=0$ or $d \neq 0$, then $R$ is commutative. In the above results, the authors applied an elementary calculation to obtain commutativity theorems instead of differential identities. Therefore, it should be interesting to extend some results concerning derivations and generalized derivations to $b$-generalize derivations. Motivated by these observations, in the present paper we would like to extend some commutativity results for derivations and generalized derivations to $b$-generalized derivations.

## 2. Some preliminaries

In the present paper, we shall make some extensive use of the following basic identities without any specific mention:

$$
\begin{gathered}
{[x y, z]=x[y, z]+[x, z] y \text { and }[x, y z]=y[x, z]+[x, y] z,} \\
x o(y z)=(x o y) z-y[x, z]=y(x o z)+[x, y] z, \\
(x y) o z=x(y o z)-[x, z] y=(x o z) y+x[y, z] .
\end{gathered}
$$

We begin with several known results which will be used in the sequel to prove our theorems.
Lemma 2.1 ([15, Lemma 2]) Let $F: R \longrightarrow R C$ be an additive map such that $F(x y)=F(x) y$
for all $x, y \in R$. Then there exists $q \in Q_{m r}(R C)$ such that $F(x)=q x$ for all $x \in R$.
Lemma 2.2 ([16, Lemma 3]) If a prime $R$ contains a nonzero commutative right ideal, then $R$ is commutative.

Lemma 2.3 ([17, Theorem 2]) Let $R$ be a prime ring with maximal right Martindale quotient ring $Q$, and $I$ a two-sided ideal of $R$. Then $I, R$ and $Q$ satisfy the same differential identities.

Lemma 2.4 ([1, Proposition 2.5.1]) Any derivation $d$ of a semiprime ring $R$ can be extended uniquely to a derivation of $Q_{m r}$.

Lemma 2.5 ([7, Lemma 1]) Let $d$ be a derivation of a prime ring and $a$ be an element of $R$. If $a d(x)=0$ for all $x \in R$, then either $a=0$ or $d$ is zero.

## 3. Main results

We are now in a position to prove our main result.
Theorem 3.1 Let $R$ be a prime ring and $I$ be a nonzero ideal of $R$. Suppose that $F$ is a nonzero $b$-generalized derivation of $R$ such that $F(x \circ y)=0$ for all $x, y \in I$, then $R$ is commutative.

Proof By the definition of $F$, we have $F(x y)=F(x) y+b x d(y)$ for all $x, y \in I$ and some $b \in Q$. If $b=0$ or $d=0$, then $F(x y)=F(x) y$ for all $x, y \in I$. Since $F \neq 0$, by Lemma 2.1, there exists $q \in Q_{m r}(R C)-\{0\}$ such that $F(x)=q x$ for all $x \in I$. In this case, $F(x \circ y)=0$ implies that $q(x \circ y)=0$ for all $x, y \in I$. Replacing $y$ by $y z$ in the last equation, we find that $0=q(x \circ(y z))=q((x \circ y) z-y[x, z])=q(x \circ y) z-q y[x, z]$ and hence $-q y[x, z]=0$ for all $x, y, z \in I$. This means that $q I[x, z]=0$ for all $x, z \in I$. The primeness of $I$ forces that either $q=0$ or $[x, z]=0$ for all $x, z \in I$. Since $q \neq 0$, then $[I, I]=0$. Hence, by application of Lemma $2.2, R$ is commutative. Hence onward, we assume that both $b \neq 0$ and $d \neq 0$. We are given that

$$
\begin{equation*}
F(x \circ y)=0 \text { for all } x, y \in I \tag{3.1}
\end{equation*}
$$

Replacing $y$ by $y x$ in (3.1), we obtain that $0=F((x \circ y) x)=F(x \circ y) x+b(x \circ y) d(x)$ for all $x, y \in I$. Using the fact that $F(x \circ y)=0$, the above equation reduces to

$$
\begin{equation*}
b(x \circ y) d(x)=0 \text { for all } x, y \in I \tag{3.2}
\end{equation*}
$$

Replace $y$ by $y z$ in (3.2) to get

$$
\begin{equation*}
b y(x \circ z) d(x)+b[x, y] z d(x)=0 \text { for all } x, y, z \in I \tag{3.3}
\end{equation*}
$$

By Lemma 2.3, $I$ and $Q$ satisfy the same differential identities, so (3.3) is also satisfied by $Q$. Replacing $y$ by $b$ in (3.3), we get

$$
\begin{equation*}
b^{2}(x \circ z) d(x)+b[x, b] z d(x)=0 \text { for all } x, z \in Q \tag{3.4}
\end{equation*}
$$

Combining (3.2) with (3.4), we find that $b[x, b] z d(x)=0$ for all $x, z \in Q$.

$$
\begin{equation*}
b[x, b] z d(x)=0 \text { for all } x, z \in Q \tag{3.5}
\end{equation*}
$$

The above relation yields that $b[x, b] Q d(x)=0$ for all $x \in Q$. The primeness of $Q$ forces that, for each $x \in Q$, either $b[x, b]=0$ or $d(x)=0$. The set of $x \in Q$ for which these two properties hold are additive subgroups of $Q$. It is well known that a group cannot be the union of two proper subgroups and $d$ can also be regarded as a derivation of $Q$ by Lemma 2.4. Therefore, $b[x, b]=0$ for all $x \in Q$ or $d(x)=0$ for all $x \in Q$. In the first case, we have $b I_{b}(x)=0$ for all $x \in Q$. By Lemma 2.5, we arrive at $b \in C-\{0\}$. Now recalling (3.2), we find that $(x \circ y) d(x)=0$ for all $x, y \in Q$ since $b$ is invertible in $C$. Replace $y$ by $y z$ in the last relation to get $0=(x \circ(y z)) d(x)=y(x \circ z) d(x)+[x, y] z d(x)=[x, y] z d(x)$ for all $x, y, z \in Q$. This implies that $[x, y] Q d(x)=0$ for all $x, y \in Q$. Hence, either $[x, y]=0$ or $d(x)=0$. Let $Q_{1}=\{x \in Q \mid[x, y]=0\}$ and $Q_{2}=\{x \in Q \mid d(x)=0\}$. Then, $Q_{1}$ and $Q_{2}$ are both additive subgroups of $Q$ such that $Q=Q_{1} \cup Q_{2}$. By Brauer's trick, we have either $Q_{1}=Q$ or $Q_{2}=Q$. On the one hand, if $Q_{1}=Q$, then $[x, y]=0$ for all $x, y \in Q$, that is, $[Q, Q]=0$. By virtue of Lemma 2.2, $Q$ is commutative and so $R$. On the other hand, if $Q_{2}=Q$, then $d(Q)=0$. Therefore, $d=0$, a contradiction.

Corollary 3.2 Let $R$ be a prime ring and $I$ be a nonzero ideal of $R$. Suppose that $F$ is a nonzero $b$-generalized derivation of $R$ such that $F\left(x^{2}\right)=0$ for all $x \in I$, then $R$ is commutative.

Proof By the assumption, we get $F\left(x^{2}\right)=0$ for all $x \in I$. Linearization of the above equation gives that $F\left(x^{2}\right)+F\left(y^{2}\right)+F(x \circ y)=0$ for all $x, y \in I$. This equation can reduce to $F(x \circ y)=0$ for all $x \in I$. It follows from Theorem 3.1 that $R$ is commutative.

Theorem 3.3 Let $R$ be a prime ring and $I$ be a nonzero ideal of $R$. Suppose that $F$ is a nonzero $b$-generalized derivation of $R$ such that $[F(x), x]=0$ for all $x \in I$, then $R$ is commutative.

Proof We are given that

$$
\begin{equation*}
[F(x), x]=0 \text { for all } x \in I \tag{3.6}
\end{equation*}
$$

Replacing $x$ by $x+y$ in (3.6) and using (3.6), we obtain

$$
\begin{equation*}
[F(x), y]+[F(y), x]=0 \text { for all } x, y \in I \tag{3.7}
\end{equation*}
$$

Substitute $y x$ for $y$ in (3.7) and use (3.7) to get

$$
\begin{equation*}
b y[d(x), x]+[b y, x] d(x)=0 \text { for all } x, y \in I \tag{3.8}
\end{equation*}
$$

Once again replacing $y$ by $y z$ in (3.8) and using (3.8), we have $[b, x] b z d(x)=0$ for all $x, z \in I$. This is the same as Eq. (3.5). Hence, repeating the same process, we get the required result.

Theorem 3.4 Let $R$ be a prime ring and $I$ be a nonzero ideal of $R$. Suppose that $F \neq I_{i d}$ is a $b$-generalized derivation of $R$ such that $F(x \circ y)=x \circ y$ for all $x, y \in I$, then $R$ is commutative.

Proof We divide the proof into two cases.
Case 1. If $F=0$, then $x \circ y=0$ for all $x, y \in I$. Taking $y$ instead of $y z$, we get $0=x \circ(y z)=$ $(x \circ y) z-y[x, z]$ for all $x, y, z \in I$. This implies that $y[x, z]=0$ for all $x, y, z \in I$, namely, $I R[I, I]=0$. The primeness of $R$ forces that $[I, I]=0$ since $I \neq 0$. Accordingly, we are done by Lemma 2.2.

Case 2. Now, let $F \neq 0$. If $b=0$ or $d=0$, then $F(x y)=F(x) y$ for all $x, y \in I$. Since $F \neq 0$, by Lemma 2.1, there exists $q \in Q_{m r}(R C)-\{0\}$ such that $F(x)=q x$ for all $x \in I$. Therefore, $(q-1)(x \circ y)=0$ for all $x, y \in I$. Note that the arguments given in the proof of Theorem 3.1 are still valid in the present situation and we can conclude that either $q-1=0$ or $[x, z]=0$ for all $x, z \in I$. If $q-1=0$, then $F(x)=x$ for all $x \in I$. For all $x \in I$ and $r \in R$, we get $r x=F(r x)=F(r) x+b r d(x)=F(r) x$ since $b=0$ or $d=0$. Thus, $(F(r)-r) x=0$ for all $x \in I$ and $r \in R$. That is $(F(r)-r) R I=0$ for all $r \in R$. This forces that $F(r)=r$ for all $r \in R$, a contradiction. If $b \neq 0$ and $d \neq 0$, we have

$$
\begin{equation*}
F(x \circ y)=x \circ y \text { for all } x, y \in I . \tag{3.9}
\end{equation*}
$$

Writing $y x$ instead of $y$ in (3.9), we find that

$$
\begin{equation*}
F(x \circ y) x+b(x \circ y) d(x)=(x \circ y) x \text { for all } x, y \in I \tag{3.10}
\end{equation*}
$$

Application of (3.9) gives that $b(x \circ y) d(x)=0$ for all $x, y \in I$, which is the same as Eq. (3.2), proving the theorem.

Corollary 3.5 Let $R$ be a prime ring and $I$ be a nonzero ideal of $R$. Suppose that $F \neq I_{i d}$ is a b-generalized derivation of $R$ such that $F\left(x^{2}\right)=x^{2}$ for all $x \in I$, then $R$ is commutative.

Theorem 3.6 Let $R$ be a prime ring and $I$ be a nonzero ideal of $R$. Suppose that $F \neq I_{i d}$ is a $b$-generalized derivation of $R$ such that $F(x \circ y)+x \circ y=0$ for all $x, y \in I$, then $R$ is commutative.

Proof Since $F$ is a $b$-generalized derivation of $R$ such that $F(x \circ y)+x \circ y=0$, then $-F(x \circ y)-$ $x \circ y=0$ for all $x, y \in I$. This implies that $-F$ is also a $b$-generalized derivation of $R$ satisfying $(-F)(x \circ y)=x \circ y$ for all $x, y \in I$. In view of Theorem 3.4, we get the required result.

Corollary 3.7 Let $R$ be a prime ring and $I$ be a nonzero ideal of $R$. Suppose that $F \neq I_{\text {id }}$ is a b-generalized derivation of $R$ such that $F\left(x^{2}\right)+x^{2}=0$ for all $x \in I$, then $R$ is commutative.

The following example shows that the above results cannot be proved for semiprime rings.
Example 3.8 Let $R_{1}$ and $R_{2}$ be prime rings, where $R_{1}$ is noncommutative and put $R=R_{1} \oplus R_{2}$. It is clear that $R$ is a semiprime ring. Let $F_{1}: R_{1} \longrightarrow R_{1}$ be a nonzero $b$-generalized derivation satisfying the hypothesis of Theorem 3.1, that is, $F_{1}(x \circ y)=0$ for all $x, y \in R_{1}$. Then the mapping $F: R \longrightarrow R$ defined by $F\left(\left(r_{1}, r_{2}\right)\right)=\left(F_{1}\left(r_{1}\right), 0\right)$ is a nonzero $(b, 0)$-generalized derivation of $R$ such that $F(X \circ Y)=0$ for all $X, Y \in R$. However, $R$ is not commutative.

Acknowledgements The author is greatly indebted to the referee for her/his useful comments.

## References

[1] K. I. BEIDAR, W. S. MARTINDALE III, A. V. MIKHALEV. Rings with Generalized Identities. Marcel Dekker, Inc., New York, 1996.
[2] M. T. KOSAN, T. K. LEE. b-Generalized derivations having nilpotent values. J. Aust. Math. Soc., 2014, 96(3): 326-337.
[3] C. L. CHUANG, T. K. LEE. Derivations modulo elementary operators. J. Algebra, 2011, 338: 56-70.
[4] B. DHARA. b-Generalized derivations on multilinear polynomials in prime rings. Bull. Korean Math. Soc., 2018, 55(2): 573-586.
[5] P. K. LIAU, C. K. LIU. An Engel condition with b-Generalized derivations for Lie ideals. J. Algebra Appl., 2018, $\mathbf{1 7}(3): 1850046,17 \mathrm{pp}$.
[6] N. DIVINSKY. On commuting automorphisms of rings. Trans. Roy. Soc. Canada Sect. III, 1955, 49: 19-22.
[7] E. C. POSNER. Derivation in prime rings. Proc. Amer. Math. Soc., 1957, 8: 1093-1100.
[8] A. ASMA, D. KUMAN, P. MIYAN. On generalized derivations and commutativity of prime and semiprime rings. Hacettepe J. Math. Stat., 2011, 40(3): 367-374.
[9] A. ASMA, V. DE FILIPPIS, F. SHUJAT. On one sided ideals of a semiprime ring with generalized derivations. Aequationes Math., 2013, 85(3): 529-537.
[10] H. E. BELL, M. N. DAIF. On derivations and commutativity in prime rings. Acta Math. Hungar., 1995, 66(4): 337-343.
[11] A. MAMOUNI, L. OUKHTITE, B. NEJJAR, et al. Some commutativity criteria for prime rings with differential identities on Jordan ideals. Comm. Algebra, 2019, 47(1): 355-361.
[12] M. A. QUADRI, M. S. KHAN, N. REHMAN. Generalized derivations and commutativity of prime rings. Indian J. Pure Appl. Math., 2003, 34(9): 1393-1396.
[13] M. ASHRAF, N. REMAN. On commutativity of rings with derivations. Results Math., 2002, 42(1-2): 3-8.
[14] N. REHMAN. On commutativity of rings with generalized derivations. Math. J. Okayama Univ., 2002, 44: 43-49.
[15] B. HVALA. Generalized derivations in prime rings. Comm. Algebra, 1998, 26(4): 1147-1166.
[16] J. H. MAYNE. Centralizing mappings of prime rings. Canad. Math. Bull., 1984, 27(1): 122-126.
[17] T. K. LEE. Semiprime rings with differential identities. Bull. Inst. Math. Acad. Sinica, 1992, 20(1): 27-38.


[^0]:    Received April 27, 2020; Accepted September 27, 2020
    Supported by the Natural Science Foundation of Anhui Province (Grant Nos. 1808085MA14; 1908085MA03).
    E-mail address: shulianghuang@163.com

